ayy AD;yy as- - as - g a, a_ W7
0.0079 0.0000 0.0015 0.0002 0.0000 0.0000 0.0051 0.0003 0.0018 0.0010
A Decay Length T00000 00176 00000 00002 00011  -00087 00000  -00003  -0.0000  -010000
\M(pr) — MPPG(A)) +0.0007 400026  +0.0000  +0.0005  +0.0003  +0.0001  +0.0006  +0.0026  +0.0000  +0.0001
= charged decay p ~0.0000  -0.0000  -00001  -0.0007  -00001  -0.0003  —0.0000  -0.0000  —0.0004  —0.0002
= Decav Leneth +0.0036  +0.0046  +0.0000  +0.0000  +0.0015  +0.0000  +0.0033  +0.0053  +0.0016  +0.0016
= y Leng ~0.0000  -00046  -0.0022  -0.0056  -00015  —0.0061  —0.0000  —0.0000  -0.0016  —0.0016
\M(prm) — MPPG(Z)| | +00035  +0.0004  +0.0007  +0.0000  +0.0001  +0.0004  +0.0006  +0.0008  +0.0017  +0.0029
p = —00000  -00056  —0.0010  —-0.0032  -00026  —0.0011  —0.0020  —0.0000  —0.0008  —0.0000
2 +0.0014 400044  +0.0000  +0.0002  +0.0000  +0.0011  +0.0000  +0.0000  +0.0007  +0.0004
Xkmf ~0.0000  -0.0000  -00009  -0.0002  -00000  -0.0000  —0.0023  -0.0007  —0.0000  —0.0004
| cos Oz +0.0015  +0.0042  +0.0000  +0.0000  +0.0003  +0.0000  +0.0002  +0.0021  +0.0000  +0.0006
2 ~0.0000  -0.0000  -0.0001  -0.0005  —00000  —0.0007  -0.0000  -0.0000  —0.0007  —0.0001
= PDG 0.0000 0.0045 0.0000 0.0008 0.0024 0.0000 0.0008 0.0031 0.0033 0.0032
= neutral decay |M(n) — M™™" (n)] T00004 L0005  —00007 00025 00013  -00005 00009  -00010  -0.0001  -0.0015
Eqt 0.0046 0.0071 0.0004 0.0012 0.0004 0.0012 0.0014 0.0015 0.0016 0.0013
EA 0.0045 0.0158 0.0016 0.0013 0.0015 0.0014 0.0028 0.0023 0.0027 0.0029
Fitting procedure I/O 0.0011 0.0003 0.0001 0.0001 0.0001 0.0001 0.0019 0.0008 0.0002 0.0026
Mis-combination 0.0025 0.0010 0.0001 0.0009 0.0008 0.0003 0.0079 0.0030 0.0000 0.0013
JY — ny 0.0001 0.0002 0.0000 0.0000 0.0000 0.0000 0.0001 0.0001 0.0001 0.0001

Background

Charged channel 0.0001 0.0001 0.0000 0.0000 0.0000 0.0000 0.0001 0.0001 0.0000 0.0001
Flat 0.0014 0.0044 0.0012 0.0023 0.0012 0.0001 0.0042 0.0012 0.0014 0.0045
Sum +0.0119 400201  +0.0026  +0.0032  +0.0036  +0.0022  +0.0114  +0.0083  +0.0056  +0.0079
—0.0071  -0.0267  -00034  —0.0076  -00041  —0.0108  —00102  —0.0045  —00039  —0.0067




Parameters J/y — E-=% [10] JIw — AA[11, 12] PDG This work

@y 0.586 % 0.012 % 0.010 0.6108 + 0.0071+9:9119
ADyyy (rad)  1.213 2 0.046 + 0.016 rad 1.2665 + 0.0298+0.0201
= ~0.376 + 0.007 + 0.003 ~0.3681 + 0.0042+0-0026
¢z (rad)  0.011 % 0.019 + 0.009 ~0.0236 + 0.0116+0.0032
s 0.371 + 0.007 + 0.002 0.3764 + 0.0042+0.0036
¢z (rad)  —0.021 +0.019 + 0.007 0.0072 + 0.011779.9022
@ 0.757 +0.011 £0.008  0.7519 + 0.0036 % 0.0019 0.6725 + 0.0085+00114
@, 0.763+0.011+0.007  —0.7559 + 0.0036 = 0.0029 ~0.7758 = 0.0088+0-0083
a- 0.65+0.04 0.7645 + 0.0081+9.00%
&0 ~0.692 + 0.016 + 0.006 ~0.6723 + 0.0078+0-9979




Parameters Previous results This work
Op — 0s (rad) —0.040 £ 0.033 £ 0.017  0.0257 = 0.0253f8:8(1)gg
&p — &s (rad) 0.012 + 0.034 + 0.008  0.0485 + 0.0252+0:0093
AZ, 0.0060 + 0.0134 + 0.0056  —0.0112 = 0.0080*9:90¢4
Acp —0.0037 £ 0.0117 £ 0.0090 -0.0074 + 0.00SOfg:gggf
ACp - 0.0002 = 0.0088*0.9074
<Agp> - —0.0048  0.0071+0.9040
¢cp (rad) —0.0048 £ 0.0137 £ 0.0029 —-0.0082 + 0.00SOfg:gg%g
o/ a- - 0.8797 0.0146+09177
ao/ay 0.913 £0.028 +0.012  0.8665 + 0.014070912]
< ¢ > (rad) 0.016 £ 0.014 £ 0.007 —-0.0154 + 0.00SOfg:ggg?
<az> - —0.3722 + 0.0029+0.0024
<ag > - 0.6724 £ 0.0057+0-0080
<a_> - 0.7702 £ 0.0061+0.9945




